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Instructions for the candidates:
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Candidates are required to give their answers in their own words as far as practicable
alert i E1RR T RY g7 s quis Rffe v &) :

Figures in the right hand margin indicate full marks.
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15 Minutes of extra time has been allotted for the candidates to read the questions carefully. -
T8 T-UH T @vs] H & @S — 3 U7 &vg — 7 |
This question paper is divided into two sections — Section - A and Section - B.
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In Sectlon - A, there are 35 objective type questions which are compuisory, each carrying 1 mark. Darken
the circle with blue/black ball pen against the correct option on O,

MR Answer Sheet provided 1o you.
Do not use Whitener/Liquid/Blade/Nail etc. on OMR Sheet; otherwise the result wiif be invalid.
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in Sectlon - B, there are 18 short answer type questions (each cérrying 2 marks), out of which any 10
questions are to be answered. Apart from this, there are 6 Long Answer Type questions (Each Carrying
5 marks), out of which any 3 questions are to be answered. '
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Use of any electronic appliances is strictly prohibited.
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wus —31/ SECTION-A

THIS ¥ _/Objective Type Questions
7T G 1 @35 aﬁa%mma}wwﬁmﬁvwé‘ﬁﬁ##wm??zm

ERT g7 TV G&l Rweq wt OMR - e ov Rifsd ¥ (35x1=35)
Question No. 1 to 35 have four options, out of which only one is correct: You have to mark, your selected
option, on the OMR - Sheet. _ (35xd=35)
L. wpHo i & 3R R Am | S o @ -

(A) s - =P ad ' (B) p- <P dd

(C) d- <iie ad ‘D) - =P ad

Transition elements are also known as -

(A) s — block elements : (B) p — block elements

u}))/ d - block elements _ (D) f - block elements
2. K3[Fe(CN)s] T® 8 — -
(A) fg& — @@ (B) SuwEEdS AfS
(C) I AT (D) RV 99
Ks[Fe(CN)s] is a -
(A) Double salt ' _,(‘B/ Complex compound

(C) Acidic Salt : D) Common salt -

3. el B PR Ao € -
(A) — COOH

(C) -C=0
|

(B) — CHO
(D) — OH

J The functional group of alcohol is -
(A) — COOH - (B) — CHO

" © ~c=0 /th — OH
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Wﬂmﬁwﬁ?a%wmaﬁﬁmgummﬁﬁﬁmmﬁ?
(A)  ERRiRNa

(C) EACIER IR ED q

(B)  vfesgss
D)  F&ER I

Alcohol is formed when one of the hydrogen of Alkane is rgptaced by -
(A) Hydroxyl group (B Aldehyde group
(C) Carboxylic group (D) Chloro group

5. R @ & I -
(A)  EEe

(B) Rrevge
(C) BHeIge D) T
Chief ore of Iron is -

(A) Magnetite (B) Siderite

\9&4 Haematite (D) All

6. oM W B [ TR B A o @ -
(A) &7 ug
© b

B) &Y A ug
D) 3 T

Group 1 elements of Periodic Table are known as -

(A Alkali metals B) Alkaline earth metals

(© Inert gases (D) None

[118] F

Page 3 of 16

by:BSEBResult.In



7. CH: ¥ (o) Ry <ui & dwan 2-
(A) 4 (B) 3
(©) 2 (D) 1

Number of (6) sigma bonds in CHj is -

© 2 (D) 1

/ sp* B)  sp’

©) sp - (D)  d’p’

The hybridisation of N in NH3 is -
(A)  sp’ (B)  sp?
(C sp D)  d’sp’
9, fr=faRad 3 #9 & 1 @&d WAvEH &7
(A) TN ®)  Aferm
(C) TR D) SR

Which of the following gas is mono-atomic?

(A) Chlorine Helium
(C) Nitrogen (D) Oxygen
[118] F Pana A ~t 12

by:BSEBResult.In




10. oW ag = e FrafaRee 3 @ few AR g fiar o 22

(A gT ImueH wrE
@  aoioRaay

(B)
(D)

S gRERROT
HIE TE

Copper metal is purified by which of the following method -

‘}Ad/ Electrolytic refining

(B) Zone refining
(C) Chromatography (D) None
1. spfan, o o foes o3 &) fm 91 § geq 2ar 27
(A) A (B) T
(C) Ear) (D) FAAT
Ammonia changes the moist red litmus paper into -
\M Blue (B) Green
(©) Black (D) White
12. H:S0:2 & —
(A) e sra (B) Thd MRAS 3
(C) UHel A W (D) fe srig w1
H:SOsjs a -
Dibasic acid (B) Monobasic acid
(C) Mono acid base (D) Di acid base
13, AT — N @1 &1 - S8 —
(A)  IPRE W (B)  WYRT &R
(C)  aw (D)  diferi=
Buna N and Buna - S are -
Natural rubber (B) Synthetic rubber
(C) Latex (D) Polythene
[118] F Paae 5 of 16
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14, PCliU& & —

(A) AR NBRS (B)

€) A NBRS vd RS M) (D)

PClsisa-

(A) idising agent 3B
| (C Oxidizing and reducing agent both (D)

PIg TE

Reducing agent

None
15. Soen SR fren wieprg @ -
(A) 3wy B) wwafAe
(C) wmR® (D). wHEife
White and yellow phosphorous are
\y/- Allotropes (B) Isomers
(C) Isobars (D). Isotones
16. Ig O &1 pH S & —
@a 1 ‘ B) 4
(C) 3 (D) 7
pH of pure water is -
(A) 1 (B)
(€, 3 D 7
[1 1 8] F Page 6 of 16
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17, g R sl &

(A) o1q (B) SHq

(€)  Swmg D) B

Nitrogen & Oxygen are -

(A)  Metals )Br/M:n - metals

(C) Metalloids (D) None
18. 3 &S fe@ fhas g @ awra gar 22

(A) 96550 (B) 96500

(C) 96000 M) 95500

" One Faraday electricity is equal to how much Coulombs?

(A) 96550 ) 96500

(C) 96000 (D) 95500
19. ayad wrelt & el amad # Tt & wem € -

(A) 2 (B) 8

(C) 18 (D) 32

Second period of periodic table contains elements :

A 2 y/ 8

© 18 | >® 32
[113] F Page 7 of 16
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20. Wi o w3 § -

(A)  He (B)  Hi
(€)  Hm D) W
WI of Helium is
He (B) Hi
(C) Hm D) Al
2. R o w g R -
(A)  HNO; (B)  HaN:0:
(C)  HNO; (D)  HNO
" The forud@of Nitric acid is -
( HNO; (B) H2N20;
(C) HNO; (D) HNO4
22. 3 ¥ HaS04 @ W 3R B w1 araue Syl 22
(A) S0, (B) SO;
(C) HaS (D) quf;]

Oleum is composed of H2S04 and which constituent?
(A) SO; : (B) SO;

23. OHd\fre o1 7 & -

A) T g ®B) Rt
(€ g | D) IR vewRT
The name of the compound  QH is -
(A) Benzene hydroxide «EE!/ Phenol
) Phenyl (D) Benzyl Alcohol

Paoa 8 of 18

by:BSEBResult.In




24. v Ry R QR it s a) s ) s § e e @ A9 ) fn o
SR T

A Rl ) e
©  Frams ®

A process of heati s of 2 moetal § : : e
x of heating Qre of a metal in excess of air below its melting point is called -

>£H Roasting (B)  Smelting
(C) Calcination ( All

25, PEERSE S Tl T 69 § oar 8 A AIES I ToE o € 99 BE o

% i
@A) A-deREs B)  SE-dwvEe

(C)  afem—AawEe (D) .\ Orei—davss

Carbohydrate which yields three toten’mono saccharide units on hydrolysis is called -

(A) Monosaccharide ._/(’BT’— Disaccharide

(C) Oligosaccharide (D) Polysaccharide
26. gpial BT GA & -

(A) CizH202 (B) Cy2H2201

(C)  Ci2HaOn (D)  Ci2H22040

Formula of sucfose is - :

(A) Ci2H22012 /AHROH

(C) Ci2H2401) (D)  CiHa0p
[118”: Page 9 of 16
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27t"?maﬁﬁaﬂ?#rﬂﬂmﬁmﬂiﬁﬂﬁmwg?
) 0; _ (B) H.S

(C) S0 (D) N:

Which of the following gas cannot be collected over water?

(A) 0z (B) HaS

() S0 . | m N
- 28, <l BT 39N far e & -

(A)  GHAVERY (B)  wfoReh
(C)  weiftar W D) uh

Dettol is used as -

(A) Disinfectant L}ﬁr/ﬁmtiL-'.t':pti«:

(C) Antimalarial (D) All

29. CH3yCH:NH,®) Fe1 Sl & —

(A) 3RS A (B). vuEa vie
€ fuza wiF (D)
CH3CH3NH; is known as - .
) Ethyl amine | (B)  Propyl amine
"~ (C)  Methyl amine (D)  Ammonia
.}_118] F | Page 10 of 16
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30. CH;COOH &1 TUPAC & -

@A) T e " (B)
©€) -~ NS g )
IUPAC name:- of CH3COOH is -
( Methanoic acid (B)
(C)  Propanoic acid (D)
31.  Kq[Fe(CN)s] ¥ Fe @ aifaeiianor s & —
(A)  +2 (B)
©c -2 - D)
The oxidatieti number of Fe in KA[E_@(CN)G] is -
A" +2 " ®)
€ -2 | (D)
32. diferim @ aga® & -
(A) I BT ' (B)
(C) Wd= BT (D)

Polythene is a polymer of -

sﬂﬁw

Ethanoic acid

Methanol

+3

3= &1

AT &1

(A)  Ethane W&

(©) Propene (D)

Ethyne
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"33, e W arfyw ame @Y w9 T ST P 2 —

(A) I - (B) qISER!
(©) SARATN (D) uRfe

Over production of acid in stomach can be controlled by -

Antacid . (B) Analgesic
(C) Antipyretic (D) Antibiotic
3. afew ore duR R wman € -
(A) e fafy (B) rTares fafer
(C) ThTY HITqo[ (D) T fafey

Nitric acid is prepared by -

(A) Contact process \_}B)/ Ostwald’s method

(C) Photosynthesis (D) Haber’s process -
3s. ?ﬂﬂﬁiﬁﬂaﬁﬁa%%ﬂauﬁnﬂwmﬁmﬁg-

(A) TIRATN (B) frererd)

(€} Se D) B

Drug used to reduce fever is called -

M Antipyretic (B) Analgesic

(C) Antacid (D) None

[118] F
by:BSEBResult.In




WS -§/ SECTION - B

- 9%/ Non - Objective Type Questions

1Y STNIY ¥¥e / Short Answer Type Questions

¥E A 1 W 18 7Y Tl & e 10 gt @ aov ) aRw B 2 9@ FEikd
gl -

(10x2=20)
Question No. I to 18 are short answer type. Answer any 10 question. Each question carries

2 marks. (10x2=20)
1. frea g 1R 9 o w7

What do you mean by point defect in a crystal?
2, RIS dol | H1Y AT FHIA 87
What do you mean by Primary cell?

% faea swaeT @ wom @ fod |

Write first law of Faraday’s law of electrolysis.
4. 3 P B AR B |
Explain order of reaction.

\}/ﬂﬁ}mmﬁqaﬁﬁmmﬁmmﬁﬁﬁ?

Conc. HNOs s stored in Aluminium vessel, why?

(2)

(2)

4

[1 18] F Page 13 of 16
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9/ T SFy 40 & T SCL 38 aey

Sulphur forms SFs but not SCl. why?

Find the oxidation number of Cu 18 the complevion [CaiNHW™

1., " wfea (FA) (CulNH1.)* & Cu # ¥Iwfrerm wam & T90 3|

8. @ 8 aufean ung e am o

Name the clement presest in Hemoglobea

9. BOD M COD & 3 oo wupd &

What do you mesa by BOD aad COD?

10. dwdlq & geEe s B

Wnite the monomer of Tellea”

1. N s

Whal are amino aads?

Complete the reachion -

N

(2)

(2

(2)

(18] F
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i3. I M W waw &R 2, i
Alkyl amiﬁe is stronger base than Ammonia, Why?
W | B IR 33
| Deﬁ'rl§ Osmotic pressure,
15. T 8?
What are Enzymes?

/mﬁgamwmﬁaﬁ?

Silver is a Good conductor of e]ectﬁcity. Why?
17. R IR e @ 8?
What are ideal and non-ideal solutions?
18. wﬁma%ﬁgamﬁwﬁmma%Wa?wmﬁ?

What are the advantages of using Cryolite in the electrolytic reduction of alumina?

(2)

(2)

)

(2)

@

(2)
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ad Sda ue / Long Answer Type Questions
T W 19 @ 20 77 A g g7 2/ g9 D @ AAF HE P [y 5 5

FRaiRa &1 5T 3 yot @ gv &1 (3x5=15)

‘er any 3 questions. ; | (3x5=15)
WA TR @ TR 3 Rig T B RRR I O Y] Hed T E 1 )
fine osmotic pressure. Prove that osmatic pressure is a colligative property.
(v B i & 2 daR W | )
FindAfie expression for first order reaction.
Sirge ¥ CegdifE Pt B R @1 v § R (5)
Write in brief how Aluminium is éxtracled from Bauxite?
2, FEMEE, - (5)
(a) wWifegy tdiRe & |rel oigd @ 9y T fhar wrar /2
(b) Ffexran FraTES B WA | JMBHAT FIAT A B?
What happens when-

(@)  Sodium acetate is heated with'soda lime? _
(b)  Calcium carbide is allowed to react with water?

23. IO & A WG 7@ 87 6 WG U ¥ B9 W oy amar 82 )
What are the main sources of Iodine? How it is extracted from sea weeds?

4. @1 g 8 W -

(5

(a) dfeergd wife @ aw ™ Fxa 2 P S p
(b) M=, smifr @ afafirar &var @7 T%m,wﬂaw. ,uefde
What happens when - sAeR® Trdee (S st aad
(@)  Calcium formate is heated strongly? TES T & ...
(b)  Methanol reacts with ammonia?
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